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temps = [28, 31, 33, 35, 27, 26, 25]
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temps = [28, 31, 33, 35, 27, 26, 25]
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>>> temps = [ 28, 31, 33, 35, 27, 26, 25]
>>> print(temps[3])

35

temps T [0] | 28

[1] 31

[2] 33

? 31| 35

[4] F.7)

[5] 26

[6] 25
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>>> temps = [ 28, 31, 33, 35, 27, 26, 25]
>>> temps[3]=36
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>>> temps = [ 28, 31, 33, 35, 27, 26, 25]

>>> temps[7] = 29

IndexError: list index out of range

IEFHL!S ‘f\ [E'] 28

[1] 31
[2] 33
[3] 35
[4] 27
[5] 26
[6] 25
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temps =[28,31,33,35,27,26,25]

for i in range(len(temps)):
print(tempsJi], end=", ")

28, 31, 33, 35, 27, 26, 25,

« for-each X E 0| E06t= & H

temps =[28,31,33,35,27,26,25]

for element in temps:
print(element, end=", ")

28, 31, 33, 35, 27, 26, 25,
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temps =[28,31,33,35,27,26,25]
if 33 in temps:

print("el A E 0l 330] JUAS!")
temps =[28,31,33,35,27,26,25]

if 99 not in temps:
print("2| A E0f 990t A S!")




append ()

fruits =[] # S AEE MMSHLL.
fruits.append("apple") # I AE ”anIe“_% = JtetCh.
fruits.append("banana") # 2l AEH "banana“E =Jt+stC.

print(fruits)

['apple’, 'banana’]




insert()

fruits = ["apple", "banana", "grape"]

fruits.insert(1, "cherry")
print(fruits)

['apple’, 'cherry', 'banana’, 'grape’]
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fruits = ["apple", "banana", "grape"]
n = fruits.index("banana") #n= 10| = CH.

if "banana" in fruits:
print(fruits.index("banana"))
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fruits = ["apple", "banana
item = fruits.pop(0)
print(fruits)

fruits = ["apple", "banana
fruits.remove("banana")
print(fruits)

n, ugrape"]
# "apple"O| &1 Xl =! Ct.

n, ugrape"]




& remove ()

heroes = [ "OtO| A Q" "E 2" "& 3" ]
heroes.remove("&2")

if "& 2" in heroes:
heroes.remove("&E2")




pop(0) * pend()

“IHPPI'_E." "h anana"

remove("cherry")

index("banana')



ALt of 4%
mylist[2] QA 200 U 24
mylist[2] = 3 Il A 20f Q= RAE 302 MESIC]
mylist.pop(2) QIElA 20f U= |AE MBI

len(mylist)

mylist®] Zi0|E RISBiC},

"value" in mylist

“value" 7} mylistof] 212 True

"value" not in mylist

“value 7t mylstoll 212 Tue

mylist.sort()

myligtE FSIC,

mylist.index("value")

“value 7t LHE XIE HHABICE

mylist.append("value")

2|AEQ| B0 “value"RAE 78I}

mylist.remove("value"™)

mylistofl A “value™ 7+ LiEtLE= RIXIE HOLM AR[SiC,
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2|AE 01BO| A|CHI} I 3|47
(o} | HA HA
numbers = [10, 20, 30, 40, 50]
print("&=",sum(numbers)) #at=9| St HE Al btetlh
print(" =l CH 8¢=",max(numbers)) #Otd 2 &= gtatstlt.
#IIE Xz == gtatett

print(" = A *&*=",rr\1in(numbers))

N

/=150
= Chegt=50
Z 2 8t=10
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2|AE A El #1: sort()

]
0

a=[3,2,1,5,4]
a.sort()

#[1, 2,3, 4, 5]

a=[3,2,1,5,4]

a.sort(reverse=True)

print(a)

AN

[5, 4, 3, 2, 1]
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od
I

numbers =[10,3,7,1,9,4,2,8,5,6]

ascending_numbers =sorted(numbers)
print( ascending_numbers ) T~
\

-
0
o
1

[1,2,3,4,5,6,7,8,9, 10]
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import random

numberList = [1, 2, 3, 4, 5, 7 8,9, 10]
print("ei & ot H & EHSH & ==", random.choice(numberList))

HEBIH MEdE 5t 2= 6

import random
movie_list = ["Citizen Kane", "Singin' in the Rain", "Modern Times",
"Casablanca", "City Lights"]

item = random.choice(movie_list)
print ("eH & Ot A L EASH & ==", item)

cHE ol H & Efst st == Citizen Kane
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Second max

72 3 8 6 6 7538 3 2

Max



& Solution:

list1 =[1, 2, 3, 4, 15, 99]

# | AESE Hgotll.
list1.sort()

#FOHMN S BHM QAE =60,
print("Ss B2 2 =", list1[-2])

list1 =[1, 2, 3, 4, 15, 99]

# N 2 == ANt
list1.remove(max(list1))

# 1 USC=z 2 =2 58t 2lAE=

print("S M Z 2 ==", max(list1))
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o S It 2AEN MEEG JALHLD JtE o) EFfAgtdt =
s CIAENA NAHote Z= 8= Hdol2 At

HHA [10.0, 9.0, 8.3, 7.1, 3.0, 9.0]
HH=[9.0, 8.3, 7.1, 9.0]




& Solution:

scores =[10.0, 9.0, 8.3, 7.1, 3.0, 9.0]
print("XlH &", scores)

scores.remove(max(scores))
scores.remove(min(scores))
print("Xl 1 =", scores)
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& Solution:

STUDENTS =5
Ist =[]
count=0

foriin range(STUDENTS):
value = int(input("& X S L AGHAIR: "))
Ist.append(value)

print("\n& & & =", sum(Ist) / len(Ist))
print("= CH & ===", max(Ist))
print("=l & & ===", min(Ist))

for score in Ist:
if score >= 80:
count += 1
print("80& 0] 4&f=", count)
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fruits1 = [ "apple", "cherry" ]
fruits2 = [ "banana", "blueberry" ]
fruits = fruits1 + fruits2
print(fruits)

['apple’, ‘cherry', 'banana’, 'blueberry']

numbers =[1,2,3]*3 #2IAES=T,23,1,2 3, 1,2, 3]0ICH

numbers = [0] * 12 #2|AE=100,0,0,0,0,0,0,0,0,0,0, 00l C}.
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list1 =11, 2, 3]
list2=1[1, 2, 3]
print(list1 == list2) # True
list1=[3,4,5]
list2=1[1, 2, 3]
# True

print(list1 > list2)
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temps = [28, 31, 33, 35, 27, 26, 25]
values = temps
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temps = [28, 31, 33, 35, 27, 26, 25]
values = temps

print(temps) #temps | AE &5
values[3] = 39 # values 2| A E HZ
print(temps) # temps 2l AEJF HA L AL

N\

[28, 31, 33, 35, 27, 26, 25] \\\x__
[28, 31, 33, 39, 27, 26, 25]
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temps = [28, 31, 33,
values = list(temps)
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=ct0l&(slicing)2 2l AES| YR E &etAl ==ot= JI-EO0IL. 2
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A E 0l Al numbers[2:7]2F 20| B 2™ OIE A 252 H

| Aot Al &
2= F=otCt o8l A 70] LELD| &0l = XISt
_ ~numbers _
I'I. start numbers[z.:‘?] | stop
E3/E3 1 £ E3 3 E3 3 3
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numbers[2:7]

slice
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numbers]:3] #1110, 20, 30]
numbers[3:] # [40, 50, 60, 70, 80, 90]
numbers[:] #1110, 20, 30, 40, 50, 60, 70, 80, 90]

new_numbers = numbers[:]
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>>> numbers = [ 10, 20, 30, 40, 50, 60, 70, 80, 90 ]
>>> numbers|:: -1]
[90, 80, 70, 60, 50, 40, 30, 20, 10]

/ numoers \
step

¥ \\", \"', \\\\‘, \‘\ ’/, \\\\ "/ ‘\“‘ ‘,’ ‘\‘\‘ ‘/ s
(10 ] 20 [ 8 | 40 | 50 | 60 | 70| 80 | 90 |
0 1 2 3 4 5 6 7 8

aln aln

k stop start j

numbers[::i—1]
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>>>Ist=11,2,3,4,5,6,7, 8]
>>> |st[0:3] = ['white', 'blue’, 'red']

>>> st
['white', 'blue’, 'red', 4, 5, 6, 7, 8]

>>>st=1[1,2,3,4,5,6,7, 8]
>>> |st[::2] = [99, 99, 99, 99]

>>> |st
[99, 2, 99, 4, 99, 6, 99, 8]
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>>>|st=[1,2,3,4,5,6,7, 8]
>>>|st[] =[]

>>> |st \
[l
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numbers = list(range(0, 10))
print(numbers)

del numbers[-1]
print(numbers)

#O00IA Al&OEH 9K E MEot= clAE
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[6:10]
0 : TR 3 4 5|6 7 8 9|10 11
Mlo|n|t]|y Ply|t|h|o|n
SZ2a il g8y -/ -6 -5 -4 -3 -2 -1
[-12:-7]

s = "Monty Python"

print(s[0]) #M
print(s[6:10]) # Pyth
print(s[-12:-7]) # Monty




numbers =[1,2,3,4,5,6,7,8,9,10]

{16
Wl *
<| &l
J 10

[10, 8, 6, 4, 2]

[1]




Solution:

numbers=[1,2,3,4,5,6,7,8,9,10]
reversed = numbers|[::-2]
print(reversed)

numbers=[1,2,3,4,5,6,7,8,9,10]
numbers[1:] =[]
print(numbers)




Syntax

[ %4 for (H% in 2IAE)if (X2) ]
Zoroz M2 2lAES R4

2} ek
o /Pﬁ' JESS

= [ x*x for x in range(10) ]

\gaﬁ E'|AEO'H o||_
Q4 x0l Hako

o=}

sq uaﬁ

MER BlAE




=H >k

squares = [ x*x for x in range(10) ]

squares =[]

for x in range(10):
squares.append(x*x)

squares =[0,1, 4,9, 16, 25, 36, 49, 64, 81 ]




squares = [x*x for x in range(10)

B

Ble BlAE
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E g=llcifE Ar&ot &4 0] =t

squares = [ ]
for x in range(10):

squar‘esappend(%"‘g‘) \
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>>> prices = [135, -545, 922, 356, -992, 217]
>>> mprices = [i if i > 0 else 0 for i in prices]
>>> mprices

[135, 0, 922, 356, 0, 217]

>>> words = ["All", "good”, "things", "must”, "come”, "to", "an”, "end."]
>>> |etters = [ w[0] for w in words ]

>>> letters

['A'7 'g') 't', 'm', 'C'7 't'7 'a'7 'e']

>>> numbers = [x+y for x in ['a','b’,'c’] for y in ['X,'y','Z]]
>>> numbers
[ax’, ‘ay', 'az, 'bx/, 'by’, bz, 'cx’, 'cy', cZ]
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o« O0FH 9Q9HAIS = SUH M 22 =012 sAIN 32 Hi+=02l ==
= 20N 2IAEZ BtEUHE XL

[0, 6, 12, 18, 24, 30, 36, 42, 48, 54, 60, 66, 72, 78, 84, 90, 96]




g Solution:

numbers = [x for x in range(100) if x % 2 == 0 and x % 3 == 0]
print(numbers)




Example: LA 1f 2|AE OpCA|
1 HA LE

T A0 &l 2IAES] 0FH M RANAL SH QI 2|AE
S M4dot= T2 18 = & 4otet.

2 elAE:[10, 20, 30, 40, 50]
M=z= 2lAE:[10, 30, 60, 100, 150]

4

Ol

U= 24 0FH x+1HA2 =8 SHE AL




Solution:

list1=[10, 20, 30, 40, 50]
list2=[sum(list1[0:x+1]) for x in range(0, len(list1))]

print("&cll 2IAE: "list1)
print("M 22 2IAE: " list2)
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[(3, 4, 5), (5, 12, 13), (8, 8, 10), (7, 24, 25), (8, 15, 17), (9, 12, 15), (10, 24, 26), (12,
16, 20), (15, 20, 25), (20, 21, 29)]

24| \:
1| Nz 18] NI
NG .
3 5 8




Solution:

[(x,y,z) for x in range(1,30) for y in range(x,30) for z in range(y,30) if
X**2 + y**2 —— Z**2]

new_list =[]
for x in range(1, 30):
for y in range(x, 30):
for z in range(y, 30):
if X**2+y**2==2**2:
new_list.append((x, v, z))
print(new_list)
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& Solution:

import matplotlib.pyplot as plt
import random

values = [random.randint(0, 5) for i in range(600)]

faces=[1,2,3,4,5,6]
rolls=10,0,0,0,0,0]

for x in values :
rolls[x] = rolls[x] + 1

plt.bar(faces, rolls) #IAEN ME
plt.show() # AHEE ofH




[112J31415]J
[ 6,7, 8 9, 10 ],
FTTs 19 19, 18, 15 7
]
print(s)

-:5ﬂ.ﬂ&Mﬁ_

sfo][3]

s{ojf

| sor

S[IBI| sl

38 -,,ﬂ.#éﬁﬁ

sf2if3] | s[2j4] |

v

[[11 2: 3: 41 5]: [61 71 81 9’

101, [11, 12; 13, 14, 151]
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314
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819
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#=XOx 2X& 2| AEE MASHC.
rows = 3
cols=5

s=[]
for row in range(rows):
s += [[0]*cols] #2X< 2| AED| 2| & ™ &L

print("s =", s)

s =[[0, O, O, 0, 0}, [0, O, O, O, O], [0, O, O, O, 0]]
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Ct=at 20| otH 1XHE el AEDF =L

#=XOx 2X& 2| AEE MAGHC.
rows = 3
cols=5

s=[]
for row in range(rows):
s += [0]*cols #1X 2l|AED| el ™AL

print("s =", s)

s=[0,0,0,0,0,0,0,0,0,0,0,0,0,0, 0]
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rows = 3
cols=5

s = [ ([0] * cols) for row in range(rows) ]

print("s =", s)

s =[[0,0,0,0,0],I0,0,0,0,0]([0,0,0,0, 0]]




rows = len(s)
cols = len(s[0])

for r in range(rows):
for ¢ in range(cols):
print(s[r][c], end=
print()

)

1 !273!475!
6,7,8,9,10,
11,12,13,14,15,
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& Solution:

transposed =[]
matrix = [[1, 2, 3], [4, 5, 6], [7, 8, 9]]

print("& cf et Z=", matrix)
# S =03 UFEOHZP

for i in range(len(matrix[0])):
transposed_row = []
for row in matrix: # MO 2 S0l CHot™d
transposed_row.append(row[i]) #iBM @AE
transposed.append(transposed_row)

['[I

row01| =JtetC}.

print("& X| =", transposed)
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K2R HYS A2 A 10x10 312 2K & 2| AES O
0110l XIZIZ 210k XI=0H Ot RS .02 HAIGHD XI2l0
#2 TAIGIOI BAL O 200 N2 B2 L2 LMAIHA
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XS 220 B 20l XI=E s0H STt
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